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Choose the correct answer:

Question @ Which of the following expression is equivalent to 4(30x + 80)?

A) 40(3x +8) B) 40(3x + 80) C) (30 + 80x)* D) 30x + 320
Question @ Solve using substitution —2x — 32y = 582
x=-35
A) (-35,16) B) (-35,—-16) C) (35,-16) D) (35,16)

Question (3) Which of the following ratios are equivalent?
A) 126:84and2:3 B) 84:126and2:3 C) 84:126and84:3 D) 126:84 and 126: 2

Question (4)Find the x- and y-intercepts of the line 234x — 117y = 936

A. x — intercept = — 4,y — intercept = 8
B. x —intercept = —4,y — intercept = —8
C. x —intercept = 4,y — intercept = —8
D. x — intercept = 4,y — intercept = 8

Question (5) What is the missing number?

(2 _53)+8(—15 _93): (—26 77)

A) 2 B) -27 @) 8 D) —24
Question (:ZFind the number that makes the ratio i %
A) 108 B) 48 0] 4 D) 192

Question_(7) Ahmed jarred 21 liters of jam after 3 days. How many days does Ahmed need to
spend making jam if he wants to jar 42 liters of jam in all? Assume the relationship is directly
proportional.

A) 6 B) 60 0) 30 D) 42

Question(8) 1f x = —48, then 3x — 28 = ---
A) 172 B) 3 ) —172 D) —48
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Question (9) Mohamed found some empty bins to put cans into for recycling. He put 2 empty
cans in the first bin, 4 empty cans in the second bin, 8§ empty cans in the third bin, 16 empty
cans in the fourth bin, and 32 empty cans in the fifth bin. If this pattern continues, how many
empty cans will Mohamed put in the sixth bin?

A) 48 B) 32 C) 64 D) 84

Question_(10) The expression 4log x + 5logy — 3log z simplifies to:

A) log(xy?° — 3z)

B) log(4x5y — 3z)
x4y5

C) log

D) log

z3
Xy20

73

Question C2 Solve for z

—150 + 10z = —320 — 10z

A) z=-85 B) z=10 C) z=-10 D) z=85

Question (12) A rectangular concrete patio is 12 meters long and 9 meters wide. What is
its perimeter in meters?
A) 42 B) 21 C) 108 D) 12

Question (I3 Which of the following satisfies the following system of inequalities?

y = 34
48x + 2y = 164
A) (—48,34) B) (3,10) O (-2,34) D) (2,34)

Question (14) Mariam measured a building and made a suitable drawing scale. The backyard
deck, which is 48 feet long in real life, is 192 inches long in the drawing. What scale did Mariam
use?

A) 4inches : 192 feet B) 4 inches : 48 feet

C) 4inches: 144 feet D) 4inches: 1 foot

Question @ Last week, students could choose fish or beef sandwiches for lunch. The cafeteria
made 60 sandwiches in all, 18 of which were fish. What percentages of the sandwiches were
beef sandwiches?.

A) 70% B) 30% C) 18% D) 60%

Best Wishes for all
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